
长 

宽
 

世尊金属

Mark Number of
Places

Change File Number signature Date
Design Process

Drafting

Proofreading

Review

Standardization

Approval

Stage Marking Base

Number

Weight
（Kg）

Scale

Virsion

Description：
• Design reference standard：GB/T 35753-2017

• Corrosion resistance reference ASTM-B117 500 hours;
• Surface powder-coated gray（RAL7035)，≧85um；

• Air conditioner foot position range:
   Length：309mm--787mm [12.17"--30.98"]；

  Width：279mm--579mm [10.98"--22.80"]; 

5. Design rated load capacity: 453.6Kg [1000 lbs];
6. Units not specified are in metric.

1

Total Page:1

1 22.12 1:12

装配总成

空调安装支架

BRKH422418
BRKH422418

#
1

Part Number  Description Number

 Column assembly  Welded component 4

2  Longitudinal beam (Length)  &=2.0 Q235 steel plate 2

Name 
66-60619-00

03-66193-00

3 Longitudinal beam (width)  &=2.0 Q235 steel plate 203-66194-00

4  Mounting bracket  &=2.0 Q235 steel plate 203-66195-00

5  Stainless steel bolt  5/16-18-3/4 454-60516-34

6 Stainless steel flat washer  5/16-0.63-0.04 3254-50516-00

7  Stainless steel spring washer  5/16 2854-40516-00

8   Stainless steel cap nut  5/16 2854-30516-01

9   Stainless steel bolt  3/8-16-1.5 454-60308-11

10   Stainless steel flat washer  3/8-0.83-0.08 854-50308-00

11   Stainless steel spring washer  3/8 454-40308-00

12   Stainless steel nut  3/8 454-30308-00

13  Shock absorber pad  1.97-1.97-0.20 401-65011-00

14  Support plate1 203-66196-00

15  Support plate2 203-66197-00

16  Self-tapping self-drilling screws  ST6.3-12 1654-72505-00

 &=2.0 Q235 steel plate
 &=2.0 Q235 steel plate

Assembly
Shi Zun Metal

Air Conditioner 
Mounting Bracket

Page:1

AutoCAD SHX Text
1

AutoCAD SHX Text
1、设计参考标准：GB/T 35753-2017； 2、耐腐蚀参考ASTM-B117 500小时； 3、表面喷塑灰色（RAL7035)， 85um； 4、空调底脚位置范围： 

AutoCAD SHX Text
2

AutoCAD SHX Text
3

AutoCAD SHX Text
4

AutoCAD SHX Text
5/6/7/8

AutoCAD SHX Text
6/7/8

AutoCAD SHX Text
9/10/11/12/13

AutoCAD SHX Text
14

AutoCAD SHX Text
15

AutoCAD SHX Text
16


	图纸和视图
	模型




